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1. A country has a large number of small transpontatiions, each having only a few vehicles. The
industry is very competitive, so that profits aneadl on the average and subject to considerable
variation over time.

The firms complain that they have problems in gettiredits and that loan rates are high. Faced
with such complaints, the banks point to a largaiper of cases where the borrowers default on
their credits.

For purposes of income taxation, there is a systeragistration installed which keeps track of the
activity of each vehicle in the industry. The baakgue that if they were allowed access to these
data, it would improve the credit situation of firens.

Give a theoretical explanation of why the bankshhlze right. Could there be other ways of
improving the situation?

2. After a period of financial insecurity it has beggrided that the deposit insurance of the country
should be reorganized. As a main principle forrtbe/ arrangements, the deposit insurance should
be self-financing, at least on average, but itdias been an important argument that the deposit
insurance should reduce risk, not only for depaesitout for the financial sector as a whole.

Give a brief survey of the alternative approacl@gtds financing a deposit insurance, with
suggestions for the particular one described above.

In the final phase of negotiation, representatofethe large banks argue that the small banks have
higher risk of a bank run that a large bank, so $hzall banks should pay a higher premium relative
to the size of their deposits than large banks.iCla@ argued that size should matter when
determining the premium ?

3. A bank has experienced some problems with thedits to a particular type of investment,
where investors are subject to some risk, and wihergvay in which investor conducts business
cannot be monitored with the bank, whereas fin&daues are publicly observable. Give a
theoretical explanation of the problems that thekbaill have in such a situation.

It is now suggested to introduce a new type of ramtt where the fixed repayment is supplemented
by a percentage of investor’s gain. Will this saillve problems of the bank?



